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D-1320 Sub. Code
10413

DISTANCE EDUCATION
B.B.A. DEGREE EXAMINATION, MAY 2019.
First Semester
PRINCIPLES OF ECONOMICS —1I
(CBCS - 2018-19 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  Define Break Even Point.
sflgolilerefl @essamid &ms.
2. How unit contribution is calculated?
S|V (E UkIE ereueumm SensS L LiL(BS g ?
3. Write a short notes on Elasticity of demand.
GREES Cowa Apflesl upfl fp GHluy euwrs.
4, Define the law of Increasing Returns.
9SEM&@D aure|ser elldullenars LHM G)a&ESmTD 5.
5. What is meant by Forecasting of Profit?
@erub saflgHe eTammTe eTerme?

6. What is Production?

2 HUGS eTemmmed 6Teumen?



wk10

Write a short note on ‘Consumers Surplus Concept’.
B&TCaunt 2 uflé GCamlumigener upd o GOILL euams.
Why does the law of demand operate?
Coaneu 68 erem @uimi@dmg,)?
What is Place Utility?
@@L uwerum( eTeTmmed GTee?
Who is Managerial Economist?
Cuemerrento Gumefluicd HljemrT eremLieum wmT?
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a) Explain the concept of consumers surplus with the
help of a diagram.

B&sTCeurt 2 ufé Camluriqener UL SHer 2 Helluyen

eNeT&Sa 1D,
Or
(b) Describe the relationship between Marginal Utility
and Total Utility.

Qursgs Lwetum i4HED, WBerdper LweTLIT g H@LW0
2 _atem 2_pellener 64l6TEEaLD.
(a) What are the steps involved in Demand
Forecasting?
Coaneu santlsge0leh 2 6T Lilq &ET cT6men?
Or

(b) Distinguish between monopoly and perfect
competition.

wpomflepowyd apeppwimen Cumigenuwiub Coumhsss.
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13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

What are the advantages of Monopoly?

pHmfepoudlen HemenLDSET 6Teomen?

Or

“Profit is the reward for risk taking” Explain.

“EeoruLrerg @i T(HSSNEES, FlenL_&@Lb
Qeu@dum@b” eflarése, .

Why does the law of demand operate?
Caaneu 6l eremm @uikiGH g ?
Or

Explain the importance of labour in the factor of
production.

2 HLGH sryewtludled
W&EWLSFHeusSemear aflarsse, .

Qamfleomarisefler

What is Break Even Analysis? Explain its
limitations?

FoBlen UIG| GTETDTE) CTETET? DAFHEM GEDUT(HEEMET
o6& D,

Or
Why the short run average cost curve is U-shaped?
GnHwu  sre  syrsfl oL ssellewe eumere] eer U
aulgeuSSHled 2 ateng)?

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Define Managerial economics. Explain its significance
and limitations.

CemenTenLo Qummaflwe @essaLd Fo M. S\

PSS WSFuSMSW LD GaDUT(HSMETWLD 6N6Tdse .
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17.

18.

19.

20.

wk10

Explain the law of Diminishing Marginal Utility.

@onbs  eumbd  efefliby  Hlever Lwerur(  alglullenen
eNeT&HeyLD.

Define: Production. What are the different factors of
production?

2 HUSEH QOEHETD Famis. DFen CHTEEBIGMET aN6TdHS.

Explain the methods of forecasting of profit.
@erub saflgge0len (PaDEameT 6llaTéae, .

Discuss the various methods of Pricing.

allaneull(hgedlen LibGoum (penmaemeT 6lleTése,Lb.
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D-1321 Sub. Code
10414

DISTANCE EDUCATION
B.B.A. DEGREE EXAMINATION, MAY 2019.
First Semester
FINANCIAL ACCOUNTING
(CBCS 2018-2019 Academic Year onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  What is Containers Stock Account?
Q& meTsav6 @) (HLIL|S SHETEHE, GTENDITE) TGN ?
2. Define: “Accounting”.
sed@Lugleflwe ubHol cuepFwim.
3. What is meant by ‘Suspense Account’?
DABMOSG| &6 (S, GTGTDITE) 6TEITET?
4. Write a short note on: “Trade Discount”.
ellwruings sle) unHdl Am @GDLL cuenrs.

5. Expand and explain ‘ICAT’.
ICAI upm eSifleurégdl efeu.

6. What do you mean by Red Ink Interest?

Aoutiyenwo aul"ig uHml BellT idleug wimg?



10.

11.

wkl11l

What is Containers Trading Account?

Qs meTseven NLITLIMTTES ST @ cTETMTE GTETE?

Write short notes on :

(a) Cash Account

(b) Debtors Account.
fm GOILL euenys :

(=) Qurés sanrd@ser

(<)) sLamaflser Hamrda.

Define the term Depreciation.

CaWinrard Umml euenFwim).

X and Y share in the ratio of 6:4. Z is admitted as a new
partner and given 1/10 share. The sacrificing ratio is?

X wpmid Y srhs@EpeLw ukig Hfgn 6:4. Z eerueumss
1710 umiE Osrhss salLneilurs Caibg  Camemer.
@semmé gru(Hb NS ereren?

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

(a) Differentiate between statement of affairs and
balance sheet.

Bl M&amasEL, @Q@mlybleasd @OLLGEE0D 2 eTer
Caumur(ha6r wreneu?
Or

(b) Explain different methods of calculating goodwill at
the time of admission of a new partner.

@M Udw gL meall Cergslumbeumipg bemndllienu
sanrdd Heusn @il LeGeum panmasamer alleurl.
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12.

13.

(a)

(b)

(a)

(b)

Janaki and Kanmani are partners sharing profit
and losses in the ratio of 2:1. They admitted Valli as
a new partner by giving 1/6% share in the future
profits. Calculate the new profit sharing ratio and
sacrificing ratio after Valli’s admission.

someSlu|d, SeTaiLD @ sl LT bineiarsse
SBIGET @y BUL s WpwennGuw 2:1 eretn edlflggdlen
Wfsgs  Oarardlempent. jeuiser @ @meupd  euaafl
eremealeny 1/6 umdlne erdliamew oru Bl sdld ydw
gl Lmeatlwurs Carsdlarpent. cueratlufen Camilma, 9m e,
HSw eoru edllgn, Huns eN6gn Qeunans Hamsdl (hs.

Or

In investment accounting, what is cum-interest and
ex-interest?

WSS (H& sasHld eully o6&TuL, eullgy Brisors
GTGITMTE) GTEI6T?

On 1.2.2005, Pravin drew a Bill for three months on
Ravi for Rs. 6,000 and received it duly accepted. On
3.2.2005 Pravin discounted the bill for 6%. On the
due date Ravi paid money for his bill. Show the
journal entries in the books of both the persons.

1.2.2005 ey gefler, gedl g em. 6,0008@, e epeimmy
g LIHMIFEE’ G erpd, ghmits Qupmmt. 3.2.2005 e
rellen @ang 6% gem@Epulg aldls555N@E;, cunidlude sile]
Qewugmr.  geumens Codluearn  gefl  LaTSMSF
Qequsgdlpri.  @Qbs  BLelgsomasmer  @)meuflen
GMUCU@hsele Lde| CFuis.

Or

Define Bill of Exchange and explain different types
of bill.

wrHNF FL g6 QedEETLD dadl cUESEMET 66T @b,

5 D-1321
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14.

15.

(a)

(b)

(a)

wkl11l

Ragul owes Prabhakar the following sums of money
due on dates mentioned below :

10 April, 20056 —  Rs. 6,000
20 April, 2005 —  Rs. 7,500
5 May, 2005 —  Rs. 8,200
10 May, 2005 — Rs. 3,500
20 May, 2005 — Rs. 2,800

Calculate the amount to be paid for all the dues
together on 31 May, 2005 with an interest @ 5%.
ITE®,  Grunsmee Spssar_ selameant  BHrlsefld
GHUALL Qgreanssamens 51 Colamm(hLb.

10 glipe, 2005 —  en. 6,000
20 griuged, 2005 — ¢, 7,500
5 Guo, 2005 — . 8,200
10 Guo, 2005 — . 3,500
20 Guo, 2005 — . 2,800

@ameu marsg Csranssmearb Gwrggwors 31 G
2005 ety 5% eully eldlgsHer Qeqss Ceuemriqu
Cgreansenws Hass (Hs.

Or
State the rules under Double Entry System.
@rleL i udlefwe eldeamerd gomis.
What do you mean by bank Reconciliation

statement? Explain the reasons for preparing the
same.

aumidl  FllgslHL  Uliqgued  eTeTUg  eTeTen?  @langs
SWTTALUSHETET STFaRTRISMET 69l6Ts @) s5.

Or

4 D-1321




16.

17.

18.

19.

(b) What are Account Books? How transactions are
entered in them?

sa&s@L USHCauBhser wrenel? Seummbled HLelq&ens:aeeT
ereueumm LSlwliLih&lemmen?

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
What are the steps involved on dissolution of partnership
firms?
gl (h euamfils Sewliyser somossliLBbCung soLi9yss
Couatimig Wenel wWmeneu?
What are the reasons for amalgamation of firms?
Bl MIGUGTEISET 66TDIEn ewTLILISMHSTE &TIERTRISET UITEnEU ?
When a partnership firm is sold to a company, give the

accounting treatment for the assets that are not taken by
the purchasing company.

@@ Sl Lramend Bmelard Blmiwsdng edhsliumbCung
Blmiwb a(sgs0sTeTeTTs Cargg QuUImILEET Saréslwadle
ereueumml enswimeriLi(hE mg)?

The following particulars relating to Madurai Branch :

Rs.
1.1.99 Stock 11,200
1.1.99 Branch debtors 6,300
Goods sent to branch 51,000
Cash sent to branch (exp) 5,000
Sales at Branch — Cash 25,000
Sales at Branch — Credit 39,000
Cash received from Debtors 41,200
31.12.99 Stock 13,600

Prepare branch a/c for 1999.

5 D-1321

wkl11l



20.

s clleurmiser gy Sener QT TUTaTenay :

€.
1.1.99 #7568 miy 11,200
1.1.99 fewer sLenmatlser 6,300
leners@ e 15 51,000
Flenerd@ Siaidw Qrrésbd (CFwey) 5,000
lanars @ ellpLener QrTEsLd 25,000
Henerudled eNpHLiener sL_asm 39,000

sLanmeflgaflOmBg GuDD QrrEsLd 41,200
31.12.99 gpadl(miy 13,600

1999 b G ar(HEsTET Hlanarssama@ W Clguis.

A company has stock of 50,000 containers valued at
Rs. 50 each. During the year. The company purchased
1,00,000 containers. It issued 10,00,000 containers to
customers and received 970000 containers from them.
80 containers were damaged of which 50 containers were
repaired at a cost of Rs. 10 per container. The purchase
price per container is Rs. 100 but stocks are valued at
Rs. 50 per container to allow for depreciation. Prepare
containers stock account.

e Bmiobd 50,000 Garersoersdr germlar eflane . 50 aisb
QLY emeusSmBsgl. 2ibs g 1,00,000 Gamerseengser
Qamarpser Gelwliu’L gl eumgsaswurerms@ 10,00,000
QS TATHEETSHET Sl () 9,70,000 Q& TATHEET
Smwuls Qupliul L g 80 Gsmeatsearsdr GaganL Hoe.
Sjmausafley 50 Gamersoersear gp. 10 eigh GCswey Cauig
Lp&IUTTSSIULLG). e Qamarsoaller Gamearpsd allane em.
100 @muy GOsrearseasaier elene eerm em. 50 erens
se&SL_ UL L g). Camearseven @) (HLIL S Sauré@ ST GlFuis.
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D-1322 Sub. Code

10423

DISTANCE EDUCATION
B.B.A. DEGREE EXAMINATION, MAY 2019.
Second Semester
Business Administration
PRINCIPLES OF MANAGEMENT
(CBCS 2018-19 Academic Year onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What is Administration?
BlITEUMSLD ETEmmTey GTeTen?
2. What are the different levels of Management?

Cuemerenioudlen L Geaum Hlenavaer wimeneu?

3. What is MBO?

6TLD.191.6p. GTGITMITED GTEITENT?

4, What is Organising?

SIMLIL| G(HEISEHETSS GTETDTE) GTEITEN?

5. Define: Decentralisation

cUETIM: S STTLI LITeLETE@HSE0.

WK 6



10.

11.

What do you mean by Achievement Test?

grgenend CsHTe| eTemmme) 6Teomen?

What is statistical quality control?

yerafludwed sraslHun() ererug) eTere?

What is meant by Strategic Management?

W& CLomeTenLd cTaTmmed 6TeTeT?

What do you mean by Total Quality Management?

Qwrsg s7 CLOEMTERTENLD GTEITLIG) 6TETEN?

Define: Stress Management.

QUETIM : LOET (&5 CLoemeaTentn.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

Explain Communication Barriers and how to
overcome the barriers.

36U CFTLMAD o 6Ter S GHET 6Tenel  DfeUDHenD
sNTlLg) Tl eTaTUemS adleuflés.
Or

Narrate the various schools of thought on
management.
Cuamreamrenty LHMH LOCGeum seall Hlmeiamhiseten @il

GTem 6.

2 D-1322
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12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

State the principles of a good organisation.

@b fnbs Sewliber Carlur(samer cilersEs.

Or
Explain the steps in MBO.
6. 19.6p.6 67 Lieb Coum Hlenavsener aleams @s.

Explain the trait theory of Leadership.
sMGFHUSHe @LDOUMD Uy GETaramssamar
AR

Or
Explain the various methods of Motivation.

2a155L1L(HSGISlem LCeun euamnssHamarT 6l6ms @s.

What are the essentials of an effective control
system?

fmhs s_HUUT(H Wpennuller 2 I g migeT LITeneu?

Or

Explain the steps involved in Decision Making
Process.

WyblauhE@En Cewudwapuie @Lib Gumbd LG
blencoganer 6lems@s.

Define co-ordination. What are the different types of
co-ordination?

uETW) : HESMMTSSE. emhidlamanTgsedlen LisdGeum)
AUMSHET WITENGU?

Or
Discuss the causes and consequences of Stress.

DT D (PSBSSen  STFETEIGET LOMLD ellaneTe smanr
cllemd @s.

3 D-1322




16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

What are the functions of management?

Cuererenouller CFuLOUTHSET Wmeneu?

Describe (a) span of control (b) accountability (c) social
responsibility (d) staffing (e) departmentation.

(=) sl@uunliger aiFs (<) QurmliyenL e (§) FupsTw
Qumrmitiy () wewtlwmert Blwerd (2-) giepmil GflSse.

Explain the different types of Leadership.
sanennggleusdler LGalm euamasmer alarsEs.
Explain the various steps involved in the process of

control.

sLHLLBSgIseNen LGam eudlipepnEamaT 6l6ms @s.

Enumerate the different methods of Communication.

S36Ue Cammer LGeun cuamEsHmerT el fss.

4 D-1322
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D-1323 Sub. Code
10424

DISTANCE EDUCATION
B.B.A. DEGREE EXAMINATION, MAY 2019.
Second Semester
COST ACCOUNTING
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.
1. What is Prime Cost?
PSenLDE CFQE|SHET CTETMTE GT6T6?
2. What is Purchase Requisition?
Qamrerapged Gouem(HCHTET eTammTE cTemen?
3. What do you mean by Piece Wage System?
DIV GG 2SI (PEND GTETDITED GTEITEN?

4. State the reasons for Idle time.
ThE 6 ThS SmrammseTTe Couema Sl LHEHME erarienss

G MIS.

5. What do you mean by process Costing?

Lilg. SETEHE L6 GTETMTED 6TETe?

6.  What do you mean by Cost Plus Contract?

QFave|L6T @anThs eLILIBSLD GTETMHTE) 6TEITEN?



10.

11.

12.

What do you mean by Job Costing?

Liewfl SETEHSH L6 GTETMTC 6T6ITE?

What do you mean by Economic Order Quantity?

S GEHET <, EWT S| 6TEL GTEGTDITE) GT6IT6T?

What is Break Even Analysis?

FfF < Uiey CTETMTE 6Tewmen?

Write short note on Cost Centre.

‘OIL&s ellene eptowid Hm @GDILIL euenys.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

State the objectives of Cost Accounting.

9L &5 ellemauiweiien Crréssamss gmms.

Or

What do you mean by Material Control? What are
the objectives of material control?

s&mlCummer SLOUUTH  ETETDTe)  6TaTan?  MNSHSH
sHUuBSgieuden CrrasD ereren?
Explain Administrative Overhead.

‘Blireurs Copbaway aflafl.

Or

Explain the different methods of apportionment of
Service  Department Cost over production
Departments.

2 HUSH FMDSHEHEG Comeusgieann L ssHelemaeani
udlrbseais@b uwCaim papasamer alleur.

5 D-1323
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13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

What are the objectives of reconciling Cost and
Financial Accounts?

ILsgallensd  samsmsD,  HHE  sarsaswb

sfla_(heugen CHr&sLD eremer?

Or

Explain in detail the Marginal Costing as a tool for

decision making.

@miglblenevs CFawey samsa@ (pige] eTHILSED ereueumm)
@m smelwursl uweatu®dEng eaums  ellfleurs
eNeT&HeyLD.

Explain different types of Budgets.

L Goum eueswmer Sl L migemer 6lemd@s.

Or

What 1is Standard Costing? What are its
Advantages?

57 DL &5NmaUILIE) GTETMTE) GTETEN? AFEM HEMENLDSHET
wimreneu?

State the Merits and Demerits of FIFO method.

Wsedled  eumeugl  psdler oI penmudlenr

fpliysamerybd, GenUTHIEEETLD Fnmis.
Or
State the merits and demerits of Time Rate system.

Crry eig wepuler Aplissmaryd, GmpUT(HSMETLLD
TS

5 D-1323
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16.

17.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

The following was the expenditure on a contract of
Rs.12,00,000, commenced in January.
Rs.
Materials 2,40,000
Wages 3,28,000
Plant 40,000
Overhead 17,200

Cash received on account of the contract upto
31st December was Rs. 4,80,000 being 80% of the work
certified. The value of materials in hand was Rs. 20,000.
The plant had undergone 20% depreciation.

Prepare is contract account.
saraufluiiler  Gem_msiulL 5.12,00,000  wHlyenw
@UUBSL Lientlssrer g ey seT LemeumLomm) :

€.
QurpLs6r 2,40,000
Fa60) 3,28,000

apdlrs Asr@d 40,000
Cunllgae sar 17,200

gabur 31 iy eliubstl uamilssts Gupliul’ L Crrésbd
5.4,80,000 (@g smampefdsiul L uewtlufer 80% <y,@D)
sl mLuyl Qurmplsefien wdlliy ep. 20,000, epilrs QgrEd
20% CsWbrard el bgleTerg). @LUbsL Liawntls Samsamnss
swmt Gewis.

Assuming that the cost structure and selling price remain
the same in periods I and II. Find out
(a) P/vratio
(b) Break — even sales
(¢) Profit when sales are Rs. 2,00,000
Period  Sales Profit
Rs. Rs.
I 2,40,000 18,000
11 2,80,000 26,000

A D-1323
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@@ Hinwsse @Qrarh sreol uGdsaid o nusSHE CFway
S, efpuamen efleaujb CH Hlenauded @)mHLUILISTSHS

QaranT(h ELDSESETLMCUSEETILD HaTdHS (H.

(1) @Qeru Sjere] ellSlgD

(=) @eormu plLbpn ellpLene

(@) alpuenen em. 2,00,000wms @ H&@E&L CUTg @emUiD.

stoliugd  elhuemer  @aTuLd

(- -
I 2,40,000 18,000
1I 2,80,000 26,000
18. Prepare a cost sheet from the following details :
Raw materials consumed — Rs. 80,000
Direct wages — Rs. 48,000
Machine house worked — 8,000
Machine hour rate - 4.00
Office overhead — 10% of works cost
Selling overhead — Rs. 1.50 per unit
Units produced — 4000
Units sold — 3600 @ Rs. 50.00 each
Epsaramid efurmsaflel®mhg <Lssellene dGams swimt
Qauis.
ePOLIGLIT(BLGET HIST6 - em. 80,000
Crpiyiq& 060l - @5.48,000
eTHIT Woamflge Liewtlwimm g - 8,000
TS r enfl eigid - 4.00
SQIeId GConblFa e ser - Uil &5 allanaudler 10%
lpuener ComblFaeser - S@sar 1.50

2 HuSH CFwwiLl L e @ser
ellbuEeT GEIILILIL L 60 @eT
alpuener alenev

4000
3600

em. 50.00 (10 E5s)

D-1323
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19.

20.

From the following particulars, work out the total
amount payable to three workers and the rate earned per
hour by them under (a) Halrey (b) Rown plans.

Standard time allowed — 12 hours
Actual time taken by A — 8 hours
Actual time taken by B — 6 hours
Actual time taken by C — 4 hours

Hour by rate Rs. 15.00

Epsaramid  elurdsefialimng A, B, C <du  apem
vanflureris@Epd@s CdasrhissiuL Gouamgw Cbrsss gaed,

wanfl Cpr eisbd wHwepen Caneded
S Lmigemert Lt (h&SE senrssl (Hs.

S@indlssiul L S auemrueam Crrn  —
A ar(h5g15 Qamearr Criyb —
B er(h&315 Qarem_ GCpyib —
C et (05315 Qamearr Grird -

SiigliuenL wenfl G aisb ep.15.00.

wHmid  Crmeumesr

12 wewflser
8 wenflger
6 wewflgar
4 ewflaer

What are the common bases used for allocation of

overheads? Explain.

Cuopgaisamer LSTeusnH@HsS eswrerliu®n  Cumgeimen

Sllg LILIGHL_EET Wmeneu? elensEs.
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